6 H17611= = = 200641 118 252 E2 W= Y
o —

— 2 38802t AV A T a2 4 AlSH staf L 62149092+
=V\.ulﬂ’“ 21 9401 = JHel i ANS VE o raEDE L siEnt FALCH| A o) o401 =
- T 11-'- 24 "'7 = o e | T 11""J 24 "‘7 = o
t sletsz 32201 3) HTHTE: 100R4A) 20024(B) 500&(C) _ SIS 478(1 8)
1 42 1 . 73 + 2-50 gsED 68 1000€/(D) 25004(E) 5000() 10000&(F) . 1 .40 wsisE 73

O
O

2 |50t man e | 32|30 e |y | 3250 [ su e | 52|50 | me | ey | 32|30 v | 5250 mu e | 5250t ma e | 32 E 0

danl [ | 32|30 | w525 0| e | e

r =
ol - 2 NNEST
S ¢ 10500a 500 39580 CCJIEY 23600 v 200 293067
S 40000 v 300 26570 CJg4dg 83900 - 34767
S 9800 A 620 624134 CDMS 8480 v 50 70592
A AR 8410 Ao 240 1108299 GS%A&' 84800 o 300 20332
Ccalztnd 4985 A 65 848230 CKHHEL 13450 v 50 61528
e 1
o
CN H N 102900 v 2700 169572
CSBSi 15450 & 100 52967
CSSCP 22000~ 200 52266
CURI= 72600 v 1500 52425
CUlm A 9850 v 550 606091
CCt & 58900V 500 201675
CHYRY 23300 — 2503
CHZIAEC 133900 A 900 14226
CMSHEH 19150 v 550 515856
WEAM 16100 v 50 51130
OIOILIS 6950 A 20 669531
CelletH™ 19350 — 48222
C¥l H® 1550V 350 102289
CHRIIY 8870 v 230 291970
COIEtA 28650 A 100 37640
CQEI= 8180V 160 1899900
C FgonLo 7790 A 140 462332
CIZO[E 30500 - 8124
CIOLZE 32700 A 500 45356
7lg5d 30700 v 50 43957
CZAH0E 7090 v 70 439117
CojLt= 60100 v 200 63670
CEMA 264004 600 529561

HolfASS

CAPRZE 49 A #H F X
c12 4045 A H X
IHMAMO 1430 A B H X

120 8% A #H H X
Lt AF 16550 A4 100 27990
fetse 88700 v 300 4239
SSEZO 2385 A # H X
CHIOOIX 3665V 25 896250
MSEZAl 63400 A 400 2478
Hx28 71504 50 1460
SEENO 2365 A B M X

1 20747000 A 2 H X
SARSMO 2840 A B H X

e

SXI2IAL
BZofx HO0a 0 -
RolR 1 580 - -
RaR2 B0 - -

Hoz 30V 5 230
BESLUFEREAL
2202l 5M0a 10 5170
2IZEN 6700 - -
wAAM 7204 10 8%
galAb 550V 50 2990
3 80V 20 11980
T3z 540a M 50

EEE] 5020 -
A3 X 6030 A 10 -
ETFE2

KODEX g 10555 v 20 8013
KODEX 2 10036 v 60 1378
KODEX &t 7450 A 20 5278
KODEX200 18550 — 334198
KODEXKRX 2915 A 5 42302
KOSEF 18440 a 65 310162
KOSEF Ba 10065 v 65 "
KOSEF IT 8930 v 60 4351
TGERKR 29365 A4 40 67675
TIGER &t 10560 v 60 62310
TIGER 2 10020 v 65 63678

REEICIY
=M 4875 -
S50H 5030 -
S50H0 4505 -
SS0MIx 4460 v 15
%%OFQ 4450 -
t

S20113 4500 5 10 Exlool ==
S20[4x  Mi5T 5 - FARe &=

=g —

i B - HHIR] 7|

g;om 5040 _ _ CM 2 Hl 825 v 20 1683304
207 5370 - 120

£20P8 5340V 70 1780

2019 5400 - 410

S2013 4600V 45 2550

£20130 5400V 10 80

SS0Mx 4700 v 35 —

S20/5 4685 40 2850

55066 4% a 18 30 , i

=20 7l =

o T BRItk 52
HICIZ3 51804 30 13720 eIy

ORAIOR 4905 - _ HIX T |

ollOHOx 44854 10 - COltfA 3050 300 145972
OWAIOM1  44%0a 5 10

OHAlOHM2 4495 - -

OIAIOHM3 4420 - -

OHAIOH4O 4470 - -

OIAlOM5 4445 5 900

OAIOR  4710A 5 30

OFAIOR3x 4695V 25 -
OFAIOM X 4675 v/ 5 -

OFAlOfs 4550 - —
OlAlOl6 4670V 30 60
OFAIOF7 4550 - -
OFAIOK8 4660 —

OFAIOl9 4520V 30 1360
2e/0l01 5050 - -
2e2/0K02 5050 - -
F2l0l03 5050 - -
Aol 5040 — 18030

QUEHEZAIBIAL
YAaol  6780a 10 2337%




